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Name: __________________________________



1
What is the conjugate of [image: image1.png]-2+ 3i



?

	1)
	[image: image2.png]-3+ 2i





	2)
	[image: image3.png]-2 - 3i





	3)
	[image: image4.png]




	4)
	[image: image5.png]3+ 2i







2
The conjugate of [image: image6.png]


 is

	1)
	[image: image7.png]—7 - 5i





	2)
	[image: image8.png]~7 + 5i





	3)
	[image: image9.png]




	4)
	[image: image10.png]7+ 5i







3
What is the conjugate of [image: image11.png]


?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






4
The conjugate of the complex expression [image: image16.png]—5x + 4i



 is

	1)
	[image: image17.png]5x— 43





	2)
	[image: image18.png]5x+4i





	3)
	[image: image19.png]—5x—4i





	4)
	[image: image20.png]—5x + 4i







5
What is the sum of [image: image21.png]


 and the conjugate of [image: image22.png]3+ 2i



?

	1)
	[image: image23.png]2+ 5i





	2)
	[image: image24.png]




	3)
	[image: image25.png]8+ 5i





	4)
	[image: image26.png]






6
When [image: image27.png]-3 - 2i



 is multiplied by its conjugate, the result is

	1)
	[image: image28.png]-13





	2)
	[image: image29.png]




	3)
	5

	4)
	13



7
State the conjugate of [image: image30.png]7- AJ-48



 expressed in simplest [image: image31.png]a + bi



 form.

8
Multiply [image: image32.png]X+ yi



 by its conjugate, and express the product in simplest form.

9
Show that the product of a + bi and its conjugate is a real number.


1
ANS:
2
REF:
081024a2

2
ANS:
4
REF:
011111a2

3
ANS:
2
REF:
011213a2

4
ANS:
3
REF:
061219a2

5
ANS:
4

[image: image33.png]D3l Acond (34210
8-5i





REF:
060810b

6
ANS:
4

[image: image34.png](~3-2)(-3+2)=9-4%=9+4





REF:
011512a2

7
ANS:


[image: image35.png]T+ AJ-48 = T+41:]3




REF:
011730a2

8
ANS:


[image: image36.png]



REF:
061432a2

9
ANS:


[image: image37.png]


.  Since a and b are real, their squares are real and the sum of their squares is real.
REF:
080122b

